
  

APRIL 2021 62508/CZ22A/BS22A/AY22A 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. Define - Independent Branch. 

 \õº¦ CÀ»õ QøÍ & Áøμ¯Ö.  

2. What is Petty Expenses? 

 ]À»øμ ö\»ÄPÒ GßÓõÀ GßÚ? 

3. What is Goods-in-Transit? 

 Ch® ö£¯ºu¼¾ÒÍ \μUS GßÓõÀ GßÚ? 

4. What are Departmental Accounts? 

 xøÓÁõ› PnUSPÒ GßÓõÀ GßÚ? 

5. Give two examples for expenses which cannot be apportioned in 
Departmental Accounts.  

 xøÓ PnUSPÒ Guß Ai¨£øh°¾® JxURk ö\´¯ C¯»õu 

ö\»ÄPÐUS Cμsk GkzxUPõmkPÒ u¸P.  

6. State any two difference between Branch and Department.  

 QøÍUS® xøÓUS® Cøh÷¯¯õÚ ÷ÁÖ£õkPÒ Cμsk TÖP.  

7. What is Fluctuating Capital? 

 ©õÖ£k® •uÀ GßÓõÀ GßÚ? 

8. What is Capital Ratio? 

 ‰»uÚ ÂQu® GßÓõÀ GßÚ? 

9. What is Realisation Account? 

 wºÄ PnUS GßÓõÀ GßÚ? 

10. What is Dissolution of a Firm? 

 J¸ {ÖÁÚU Pø»¨¦ GßÓõÀ GßÚ? 

11. Define Indian Accounting Standards.  

 C¢v¯ PnUQ¯À uμ{ø» & Áøμ¯Ö.  

12. List out any two role of IFRS.  

 £ßÚõmk PnUQ¯À uμ {ø»°À H÷uÝ® Cμsk £[QøÚ 

£mi¯¼kP.  
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SECTION B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. The following information relates to Vellore Branch.  
 Rs. 

Stock on 1.1.2019 11,200

Debtors on 1.1.2019 6,300 

Goods sent to branch 51,000

Sales at branch : 

  Cash 25,000

  Credit 39,000

Cash sent to branch for 

Rent 1,500

Salaries  3,000

Petty cash 500

Cash received from debtors 41,200

Stock on 31.12.2019  13,600

 Prepare branch account for the year 2020.  

 ÷Á¿º QøÍ öuõhº£õÚ uPÁÀPÒ ¤ßÁ¸©õÖ.  

 ¹. 

1.1.2019 &À \μUQ¸¨¦ 11,200

1.1.2019&À PhÚõÎPÒ 6,300 

Qø»US AÝ¨¤¯ \μUS 51,000

QøÍ°ß ÂØ£øÚ : 

 öμõUP® 25,000

  Phß 39,000

QøÍUS AÝ¨¤¯ öμõUP® : 

  ÁõhøP 1,500

  \®£Í® 3,000

  ]À»øÓ öμõUP® 500

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 41,200

31.12.2019 &À \μUQ¸¨¦ 13,600

 QøÍ PnUQøÚ 2020&® BskUS u¯õº ö\´P.  
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14. Write a note on ‘Inter-Departmental Transfer’. 

 xøÓPÐUS Cøh÷¯¯õÚ ©õØÓ® £ØÔ J¸ SÔ¨¦ ÁøμP.  

15. A company’s departmental sales were X Rs. 20,000,  
Y - Rs. 18,000 and Z - Rs. 16,000 whose gross profit ratio is 40%, 
30% and 20% on sales respectively. Advertisement expenses  
Rs. 6,750 which is to allocated on the basis of sales and total 
general expenses for the period (including those relating to other 
departments) were Rs. 5,400 on the total turnover of  
Rs. 1,08,000. Prepare Departmental Profit and Loss Account.  

 J¸ {Ö©zvß xøÓÁõ› ÂØ£øÚ X & ¹. 20,000, Y & ¹. 18,000 

©ØÖ® Z  & ¹. 16,000. Cuß ö©õzu »õ£ ÂQu® ÂØ£øÚ «x 

•øÓ÷¯ 40%, 30% ©ØÖ® 20% ÂØ£øÚ ÂQu¨£i £Qμ ÷Ási¯ 

ÂÍ®£μa ö\»ÄPÒ ¹. 6,750 ÷©¾® CUPõ» Pmhzvß ö©õzu 

ö£õxa ö\»ÄPÒ (©ØÓ xøÓPÒ ö\»ÄPøÍ²® ÷\ºzx) ¹. 5,400 

BÚx ö©õzu ÂØ£øÚ ¹. 1,08,000ØS E›¯x. xøÓÁõ› C»õ£ 

|mhU PnUS u¯õ›UP.  

16. Calculate Goodwill at three years purchase of last five years’ 
average profits. The Profit were.  

 2015 - Rs. 96,000 

 2016 - Rs. 14,400 

 2017 - Rs. 20,000 

 2018 - Rs. 6,000 

 2019 - Rs. 10,000. 

 Ph¢u I¢x Á¸h \μõ\› C»õ£zvÀ ‰ßÖ Á¸h öPõÒ•uÀ 

Ai¨£øh°À |Øö£¯º PnUQkP. C»õ£[PÒ ¤ßÁ¸©õÖ.  

 2015 - ¹. 96,000 

 2016 - ¹. 14,400 

 2017 - ¹. 20,000 

 2018 - ¹. 6,000 

 2019 - ¹. 10,000. 

17. What do you mean by Piecemeal Distribution? 

 xsk xshõP Â{÷¯õP® ö\´uÀ £ØÔ }Âº AÔÁx GßÚ? 
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18. Ram, Rahim and Suresh share profits in the ratio of 3:2:1 on 
31.12.2019, their balance sheet was as follows.  

Liabilities Rs. Assets Rs. 

Creditors 12,000 Machinery 25,000

Capital reserve 3,000 Stock 11,000

Capital : Debtors  9,500

  Ram 20,000 Goodwill 13,000

  Rahim 15,000 Cash 1,500

  Suresh 10,000  

 60,000  60,000

 On the above date, the firm was dissolved. The assets were 
realised except cash Rs. 60,000. The creditors were settled at  
Rs. 11,500. Dissolution expenses amounted to Rs. 800. Give 
necessary Ledger Accounts.  

 μõ®, μî® ©ØÖ® _÷μè BQ÷¯õº »õ£zøu 3:2:1  GßÓ ÂQuzvÀ 

£[QmkU öPõÒÐ® TmhõÎPÒ 31.12.2019 AßÖ C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 12,000 C¯¢vμ® 25,000

ö£õxUPõ¨¦ 3,000 \μUQ¸¨¦ 11,000

‰»uÚ® : PhÚõÎPÒ 9,500

  μõ® 20,000 |Øö£¯º 13,000

  μî®  15,000 öμõUP® 1,500

  _÷μè 10,000  

 60,000  60,000

 ÷©ØTÔ¯ ÷uv°À Tmhõsø© Pø»UP¨£mhx. öμõUP® uÂμ 

ö\õzxUPÒ ÂØÓx ¹. 60,000. PhÜ¢÷uõºPÐUS ¹. 11,500 

ö\¾zu¨£mhx. Pø»¨¦a ö\»ÄPÒ ¹. 800 BS®. ÷uøÁ¯õÚ 

÷£÷μmk PnUSPøÍz u¸P.  



 62508/CZ22A/BS22A/AY22A 
 

5

19. What are the objectives and uses of Financial Statements for 
users? 

 {v AÔUøP°ß ÷|õUP[PÒ ©ØÖ® £¯ßPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

20. A Trichy head office sent goods to Karur Branch at 25% profit 
over cost. From the following details, prepare necessary ledger 
account in the books at Head Office under Stock and Debtors 
System.  

 Rs. 

Opening stock of goods at branch at invoice price 20,000 

Goods sent to branch at invoice price  90,000 

Loss of goods in transit at invoice price  6,000 

Pilferage at branch at the cost of branch 1,200 

Closing stock at branch at its cost to branch 16,000 

Sales at branch 1,05,000 

Salaries and wages at branch 6,000 

Other expenses at branch 3,000 

 The branch received Rs. 4,000 from insurance company in 
settlement of the claim for the loss of goods in transit.  

 J¸ v¸a] uø»ø© A¾Á»P® P¹º QøÍUS \μUSPøÍ 

AhUPzvØS ÷©À 25% C»õ£zvÀ AÝ¨¦QÓx.  

 ¤ßÁ¸® ÂÁμ[PÒ öPõsk uø»ø© A¾Á»P HkPÎÀ \μUS 

©ØÖ® PhÚõÎPÒ •øÓ°À ÷uøÁ¯õÚ ÷£÷μmkU PnUSPÒ u¸P.  

 ¹. 

QøÍ°À öuõhUP \μUQ¸¨¦ Chõ¨¦ Âø»°À 20,000 

QøÍUS AÝ¨¤¯ \μUS Chõ¨¦ Âø»°À  90,000 

\μUS Ch©õØÓzvÀ |mh® Chõ¨¦ Âø»°À 6,000 

QøÍ°À ]Ö PÍÄ |mh® QøÍ°ß AhUP Âø»°À 1,200 

QøÍ°À CÖva \μUQ¸¨¦ QøÍ°À AhUP Âø»°À 16,000 

QøÍ°À ÂØ£øÚ 1,05,000 

QøÍ°ß \®£Í[PÒ ©ØÖ® T¼PÒ 6,000 

QøÍ°ß Cuμa ö\»ÄPÒ 3,000 

 \μUS Ch©õØÓzvß |mhzvØPõÚ ÷Põ›UøP°ß wºÄ Põ¨¥mk 

{Ö©zvhª¸¢x QøÍ ö£ØÓx ¹. 4,000.  
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21. What are the advantages and disadvantages of Departmental 
Accounting? 

 xøÓÁõ›U PnUQß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

22. A, B and C are partners sharing profits and losses in the ratio of 
6

1
2

1
3

1 ;;  respectively. Their balance sheet as on 31.12.2019 was 
as follows:  

Liabilities  Rs. Assets Rs. 
Creditors 25,000 Building 50,000 
Loan 15,000 Machinery 40,000 
Reserve Fund 16,000 Furniture  10,000 
Capital A 30,000 Stock 25,000 
             B 40,000 Debtors -18,000  
                (–)500 17,500 
             C 25,000 Cash  8,500 

 1,51,000  1,51,000 

 C retires on 31.12.2019 subject to the following conditions: 

 (a) A goodwill A/c is created in the books for Rs. 24,000 

 (b) Machinery to be depreciated by 10% 

 (c) Furniture to be depreciated by 5%  

 (d) Stock to be appreciated by 15% and Buildings to be 
appreciated by 10% 

 (e) Reserve for doubtful debts is to be realised to Rs. 2,000 

 Give necessary Ledger Accounts and show the Balance Sheet of 
the Newly constituted firm.  

 A, B ©ØÖ® C C»õ£ |mh[PÒ •øÓ÷¯ 6
1

2
1

3
1 ;;  ÂQu[PÎÀ 

£Qº¢x öPõÒÐ® TmhõÎPÒ BÁº. 31.12.2019 AßÖ AÁºPÎß 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 25,000 Pmih® 50,000 

Phß 15,000 C¯¢vμ® 40,000 

Põ¨¦{v 16,000 |õØPõ¼ 10,000 

•uÀ : A 30,000 \μUQ¸¨¦ 25,000 

           B 40,000 PhÚõÎPÒ -18,000  

                       (–)500 17,500 
           C 25,000 öμõUP® 8,500 

 1,51,000  1,51,000 
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 RÌUPõq® {£¢uøÚPÎß Ai¨£øh°À 31.12.2019 AßÖ 

Tmhõsø©°À C¸¢x C Â»QÚõº.  

 (A) HkPÎÀ ¹. 24,000&US |Øö£¯º PnUS E¸ÁõUP¨£mhx 

 (B) C¯¢vμzvß «x 10% ÷u´©õÚ® ö\´¯¨£mhx  

 (C) |õØPõ¼ «x 5% ÷u´©õÚ® ö\´¯¨£mhx  

 (D) \μUSPÒ «x 15% ©ØÖ® Pmih® «x 10% Âø» E¯ºÄ 

ö\´¯¨£mhx 

 (E) I¯UPhßPÒ «uõÚ Põ¨¦ ¹. 2,000 AvP¨£kzu¨£mhx.  

  ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍz  u¢x ¦v¯ 

Tmhõsø©°ß C¸¨¦{ø»U SÔ¨ø£z u¯õº ö\´P.  

23. Following is the Balance Sheet of X, Y and Z as at 31.12.2018 : 

Liabilities Rs. Assets Rs. 

Capital : X 20,000 Cash 10,400

Y 10,000 Debtors 12,000

Z 10,000 Stock 8,000

Reserve 6,400 Plant 12,000

Creditors 4,000 Goodwill 8,000

 50,400  50,400

 Z died on 14.3.2019 under the terms of Partnership Deed the 
executors of a deceased partner were entitled. 

 (a) Amount standing to the credit partner’s capital A/c. 

 (b) Interest on capital at 5% per annum. 

 (c) Share of goodwill on the basis of twice the average of the 
past three years profits, and  

 (d) Share of profits from the closing of the last financial year to 
the date of death on the basis of the average of three 
competed year’s  profits before the death. 

 Profit for 2017, 2018 and 2019 were respectively Rs. 12,000,  
Rs. 14,000 and Rs. 16,000. Profits were shared in the ratio of 
capitals. 

 Draw up Z’s A/C to be rendered to his Executors.  
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 31.12.2018 AßÖ X, Y ©ØÖ® Z BQ÷¯õ›ß C¸¨¦{ø» SÔ¨¦ 

¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ : X 20,000 öμõUP® 10,400 

 Y 10,000 PhÚõÎPÒ 12,000 

 Z 10,000 \μUQ¸¨¦ 8,000

Põ¨¦ 6,400 ö£õÔ 12,000

PhÜ¢÷uõº 4,000 |Øö£¯º 8,000

 50,400  50,400

 14.3.2019 AßÖ Z CÓ¢xÂmhõº. Tmhõsø© J¨£¢u¨£i 

Põ»©õÚ TmhõÎ°ß {øÓ÷ÁØÖ£Á¸US EÔzuμõÁÚ : 

 (A) TmhõÎ°ß •uÀ P/S –À ÁμÂÀ EÒÍ öuõøP  

 (B) •uÀ C¸¨¤PÒ «x Ámi BsiUS 5% 

 (C) Ph¢u ‰ßÓõsk C»õ£[PÎß \μõ\›°ß £[S C¸©h[S 

GßÓ Ai¨£øh°À |Øö£¯›ß £[S 

 (D) CÓ¨¤ØS •ß •ÊÁx® •i¢u ‰ßÓõsk C»õ£[PÎÀ 

\μõ\›ø¯ Ai¨£øh¯õP öPõsk Ph¢u {v¯õsk 

CÖv°¼¸¢x CÓ¨¦ ÷uv Áøμ°»õÚ C»õ£zvÀ £[S. 

 2017, 2018 ©ØÖ® 2019 –ß C»õ£[PÒ •øÓ÷¯ ¹. 12,000,  

¹. 14,000 ©ØÖ® ¹. 16,000 C»õ£[PÒ •uÀPÒ ÂQuzvÀ 

£[Qh¨£mhÚ. 

 {øÓ÷ÁØÖ£Á¸US AÎUP ÷Ási¯ P/S ÁøμP. 

24. Distinguish between Indian Accounting Standard and FFRS.  

 C¢v¯ PnUQ¯À uμ{ø»PÐUS® \ºÁ÷u\ PnUQ¯À uμzvØS® 

Cøh°»õÚ ÷ÁÖ£õkPÒ ¯õøÁ? 

————————— 


